EARAZROREIERT — 2 N—XBISY —F 201952850 (PA) 20[@1A&E3H

ECEE R

SNEC2—154 C2 #5%R4mL

[A~&E£] 1% :210,000  ~ 237%:63,000 W  33%&:21,000H ~ 43%&:13,000 W ~ 57 :8,000 M

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
. s > 4 | AIEF 1:31.6 5-7-6-1 |38.7| — 1 466 | LAkt (1£8)
118 9| TxX—1TXA T 0 ) oy | 1) EREE
L:7L>FFE2T71 BOXT1—%4 AHME—FRFT—=T I
=y o FHAFIK :32. —8-8- . — HeEE (&H8)
21718 '7’( /7'7 4 NI 4 5 54.6 (12312/21) R L & (‘:_135) é\lﬂﬁ_é =
:ZRFAd—I K B:7U—-"TrrM4a> AREGa—T7—L
S, o 4 4 | RAEEC 1:32.6 6-4-4-2 | 40.1| — 3 453 | REE (£H)
3|55 UNTA 54.0 2 1/2) e
A= X142 A4 B:75—IV\1 bk EvJdLy RT77—L4
T o4 | WO®E 1:32.7 10-9-9-8 [39.5| — 4 506 | LUEf (1£%)
4 WA 2 2YZTFA b 56.0 (3/4) +2) (*F) A3
L:2 kA>T UE—> B:TUCHEIXISTIL BB
35 # 6 | WTHE 1:33.1 3-3-3-5 [40.9| — 5 476 | ABMERKX (1EH)
5 11221477 54.0 @ (-3) | EREE
R:RYT— LRI+ B:Z3/030 TR
Y ¢ ARV ETAY 7 5 g;f’ﬁit: 1:(343).8 1-1-1-3 421 — | 9 (4_650) ﬁzﬁﬁég;& (1£%)
R:KRTA RYZI BEANLHEY bY—I RWZ77—~4
— PH X 4 5 | IS 1:33.9 8-6-5-7 | 41.0| — 8 421 | T3ER (EH)
B, Fe—THIu b 56.0 (7E) 0 | @ JeniE
L:hY/RIA4T BvF—a0F B B2
$,5, 8953 # 6 | HHEA 1:34.3 2-2-2-6 |42.2| — 6 475 | FHHEBAIE (1£%9)
s3|T1>~3F737 56.0 @) C |mEES
LT RIA YTy TR B:ALTA A= RAEW IS
;= i 5 | RBEEZ 1:34.8 9-10-10-10 | 41.2 | — 7 436 | MIHEZ (EH)
9|8[10| 77A/ =TI 54.0 21/2) Gy | ABEET
R:T—UTr—R BZ—N—TFLR2 Y H IS
; s 7 | HAKIEA 1:34.8 4-5-7-9 | 42.0| — 10 | 492 |HMEE (£H)
10(7|7|772=7747 £54.0 (7€) g | (B J PN
L:€r/0704 B4 xIRFTU— FEHS
® 1—F—@EBIERL
1T=7r= 6,3,1,7,9,5,8,4,10,2
2a=5F= 6,3,1,5,7,4,9,8,2,10
Ja=5= 6,3,1,5,4,9,7,8,2,10
43—+ — 9,5,6,8,1,3,4,2,7,10
[ N5
B 9 250M 714K 8-9 160M e E 7-8 340 JEE 5-8-9 500
B B 9 1004 5-9 200M B = 8-9 390M EE 9-8-5 1,560
8 1004 5-8 340M B H 9-8 590M
0 110M

ABICOVWTRDTEEERROODE. TR LIV,




